Incident occurred overnight on the night of July 28^{th,} 2023. The specific time is unknown as the owner of the vehicle, Anna Harman, was not present. There are no other known witnesses to the event as it happened overnight. The incident occurred outside of 1026 E Pleasant Street, Milwaukee, WI, 53202. The damages occurred due to a tree, owned by the city of Milwaukee, falling on top of a vehicle, owned by Anna Harman.

The relief sought is the reparation of the damaged vehicle.

Claimant Address: 1026 E Pleasant St, apt 1, Milwaukee, WI, 53202

Claimant Signature: AMA Haman, AMAHMAN

Claimant Phone Number: (515)-447-6585

Claimant e-mail: harmananna19@gmail.com

Anna Harman (515)-447-6585

harmananna19@gmail.com

1023 NOV 10 PM 1:5

Detailed description of event:

Incident occurred overnight on the night of July 28^{th,} 2023. The specific time is unknown as the owner of the vehicle, Anna Harman, was not present. There are no other known witnesses to the event as it happened overnight. The incident occurred outside of 1026 E Pleasant Street, Milwaukee, WI, 53202. The damages occurred due to a tree, owned by the city of Milwaukee, falling on top of a vehicle, owned by Anna Harman.

Claimant phone number: (515)-447-6585

Claimant email address: harmananna19@gmail.com

Claimant address: 1026 E Pleasant St, apt 1, Milwaukee, WI, 53202

Anna Harman, Amatarman



PINKEY'S CAPITAL AUTO BODY

info@pcabwi.com 120 W. MELVINA ST., MILWAUKEE, WI 53212

Phone: (414) 962-3380 FAX: (414) 962-0670

Workfile ID: PartsShare:

Federal EPA:

State EPA:

206000e4 7yt9Xm

Federal ID: State ID:

390985331 456-0000015257-03

> Milwaukee, WI WI

Preliminary Estimate

Customer: Harman, Anna

Written By: Steven Schulz

Insured:

Harman, Anna

Policy #:

Date of Loss:

Claim #:

Type of Loss:

Point of Impact: 13 Rollover

Days to Repair: 0

Owner:

Harman, Anna (515) 447-6585 Cell **Inspection Location:**

PINKEY'S CAPITAL AUTO BODY

120 W. MELVINA ST.

MILWAUKEE, WI 53212

Repair Facility

(414) 962-3380 Business

Insurance Company:

VEHICLE

2015 FORD Escape Titanium 4WD 4D UTV 4-2.0L Turbocharged Gasoline Gasoline Direct Injection White

VIN:

1FMCU9J98FUB72275

Interior Color:

Beige

Mileage In:

License:

ARX6393

89,501

Vehicle Out:

Exterior Color:

White

Mileage Out:

State:

WI

Production Date:

2/2015

Condition:

Job #:

TRANSMISSION

Automatic Transmission

4 Wheel Drive

POWER

Power Steering

Power Brakes

Power Windows

Power Locks Power Mirrors

Heated Mirrors

Power Driver Seat

Power Passenger Seat Memory Package

DECOR

Dual Mirrors Privacy Glass Console/Storage

Overhead Console

CONVENIENCE

Air Conditioning

Intermittent Wipers

Tilt Wheel

Cruise Control Rear Defogger

Keyless Entry

Alarm

Message Center

Steering Wheel Touch Controls

Rear Window Wiper Telescopic Wheel Climate Control Backup Camera Parking Sensors

Remote Starter Home Link RADIO

AM Radio FM Radio

Stereo Search/Seek

CD Player

Auxiliary Audio Connection

Premium Radio Satellite Radio

SAFETY

Drivers Side Air Bag Passenger Air Bag Anti-Lock Brakes (4) 4 Wheel Disc Brakes Traction Control Stability Control

Front Side Impact Air Bags Head/Curtain Air Bags Hands Free Device

ROOF

Luggage/Roof Rack

SEATS

Bucket Seats

Reclining/Lounge Seats

Leather Seats **Heated Seats**

Aluminum/Alloy Wheels

PAINT

WHEELS

Three Stage Paint

OTHER Fog Lamps

Signal Integrated Mirrors

TRUCK

Power Trunk/Liftgate

Preliminary Estimate

2015 FORD Escape Titanium 4WD 4D UTV 4-2.0L Turbocharged Gasoline Gasoline Direct Injection White 41 # Repl Seam Sealer 1 40.00 0.3 42 # Rough pulls LT quarter panel 1 2.0 43 OTHER CHARGES 44 # E.P.C. 1 4.00				SUBTOTALS		1,922.09	47.4	11.1
41 # Repl Seam Sealer 1 40.00 0.3 42 # Rough pulls LT quarter panel 1 2.0	44 #			E.P.C.	1	4.00		
41 # Repl Seam Sealer 1 40.00 0.3	43			OTHER CHARGES				
41 # Repl Seam Sealer 1 40.00 0.3	42 #		Rough pulls LT quarter panel		1		2.0	
40.00		КСРІ					2.0	
2015 FORD Escape Titanium 4WD 4D UTV 4-2.0L Turbocharged Gasoline Gasoline Direct Injection White	41 #	Renl	Seam Sealer	T	1	40.00	0.3	
	2015 FORD	Escape Titanium 4W	D 4D UTV 4-2.0L Turbocharged	Gasoline Gasoline Direct Inje	ction White			
Customer: Harman, Anna								

ESTIMATE TOTALS				
Category	Basis		Rate	Cost \$
Parts				1,918.09
Body Labor	44.8 hrs	@	\$ 74.00 /hr	3,315.20
Paint Labor	11.1 hrs	@	\$ 74.00 /hr	821.40
Mechanical Labor	2.6 hrs	@	\$ 145.00 /hr	377.00
Paint Supplies	11.1 hrs	@	\$ 54.00 /hr	599.40
Other Charges				4.00
Subtotal			To the second se	7,035.09
Sales Tax	\$ 7,035.09	@	5.5000 %	386.93
Grand Total				7,422.02
Deductible				0.00
CUSTOMER PAY			2	0.00
INSURANCE PAY	,			7,422.02

MOTOR VEHICLE REPAIR PRACTICES ARE REGULATED BY CHAPTER ATCP 132, WIS. ADM. CODE, ADMINISTERED BY THE BUREAU OF CONSUMER PROTECTION, WISCONSIN DEPT. OF AGRICULTURE, TRADE AND CONSUMER PROTECTION, P.O. BOX 8911, MADISON, WISCONSIN 53708-8911.



METICULOUS AUTO BODY INC

Workfile ID: PartsShare:

0ef8c9a9 7xQFLm

Federal ID:

39-1960215

Details Make the Difference 8800 FOND DU LAC AVENUE, MILWAUKEE, WI 53225

Phone: (414) 464-9000 FAX: (414) 464-5950

Preliminary Estimate

Customer: Harman, Anna

Written By: Trevor Peterson

Insured:

Harman, Anna

Policy #:

Claim #:

Type of Loss:

Point of Impact:

Date of Loss:

Days to Repair: 0

Owner:

Harman, Anna 1026 E. PLESANT ST Milwaukee, WI 53202 (515) 447-6585 Cell

Inspection Location:

METICULOUS AUTO BODY INC 8800 FOND DU LAC AVENUE MILWAUKEE, WI 53225

Repair Facility

(414) 464-9000 Business

Insurance Company:

VEHICLE

2015 FORD Escape Titanium 4WD 4D UTV 4-2.0L Turbocharged Gasoline Gasoline Direct Injection

VIN:

1FMCU9J98FUB72275

Interior Color:

Mileage In:

Vehicle Out:

License:

Mileage Out:

Exterior Color:

State:

WI

Production Date:

Condition:

Job #:

TRANSMISSION

Automatic Transmission

4 Wheel Drive

Power Steering

Power Windows

Power Brakes

Power Locks

Power Mirrors

Heated Mirrors

Power Driver Seat

Memory Package

DECOR

Dual Mirrors

Privacy Glass

Console/Storage

Overhead Console

Power Passenger Seat

POWER

CONVENIENCE Air Conditioning

Intermittent Wipers

Tilt Wheel

Cruise Control Rear Defogger

Keyless Entry

Alarm

Message Center

Steering Wheel Touch Controls

Rear Window Wiper

Telescopic Wheel Climate Control

Backup Camera

Parking Sensors Remote Starter

Home Link **RADIO**

AM Radio

FM Radio Stereo

Search/Seek

CD Player

Auxiliary Audio Connection

Premium Radio Satellite Radio

SAFETY

Drivers Side Air Bag

Passenger Air Bag Anti-Lock Brakes (4) 4 Wheel Disc Brakes

Traction Control

Stability Control

Front Side Impact Air Bags Head/Curtain Air Bags Hands Free Device

ROOF

Luggage/Roof Rack

SEATS

Bucket Seats

Reclining/Lounge Seats

Leather Seats **Heated Seats**

WHEELS

Aluminum/Alloy Wheels

PAINT

Clear Coat Paint

OTHER Fog Lamps

Signal Integrated Mirrors

TRUCK

Power Trunk/Liftgate

Get live updates at www.carwise.com/e/4AUyeR

Preliminary Estimate

Customer: Harman, Anna

2015 FORD Escape Titanium 4WD 4D UTV 4-2.0L Turbocharged Gasoline Gasoline Direct Injection

Line		Oper	Description	Part Number	Qty	Extended Price \$	Labor	Paint
1	WINDSHIELD					7 - 17 - 17 - 17		
2	*	Subl	Windshield FORD, w/o electrochromatic mirror w/o rain sensor		1	<u>175.00</u>		
3	RESTRAINT SYS	TEMS	a de la companya de l					
4		R&I	RT Head air bag to 12/01/2014			m	0.8 M	
5		R&I	LT Head air bag to 12/01/2014			m	0.8 M	*
6	ROOF							
7	1	Repl	Roof panel	CJ5Z7850202A	1	1,345.38	18.0	3.4
8			Add for Clear Coat					1.4
9	1	Repl	LT Rail silver	CJ5Z7855115B	1	338.70	Incl.	
10		Repl	LT Rear cap silver	CJ5Z7855183BB	1	135.97		
11		R&I	R&I headliner				Incl.	
12		R&I	RT R&I luggage rack as an assy				Incl.	
13	*	R&I	Cross rail front				<u>Incl.</u>	
14	*	R&I	Cross rail rear				<u>Incl.</u>	
15	PILLARS, ROCK	ER &	FLOOR					
16		Blnd	LT Aperture panel			s		2.1
17	QUARTER PANE	L						
18	*	Rpr	LT Quarter panel				<u>8.0</u>	2.7
19			Overlap Major Adj. Panel					-0.4
20			Add for Clear Coat					0.5
21		R&I	LT Wheelhouse liner				0.3	
22		R&I	LT Qtr glass Ford, w/black molding green tint				1.6	
23	#		Glass kit		1	25.00		
24	*	Rpr	LT Inner panel assy				<u>5.0</u>	1.5
25			Add for Clear Coat					0.3
26	LIFT GATE							
27		R&I	R&I liftgate assy				Incl.	
28	REAR LAMPS							
29		R&I	LT Tail lamp assy				0.3	
30	REAR BUMPER							
31		R&I	R&I bumper cover				1.5	
32	#		**** ADD-ONS ****		1			
33	#		Cover car		1	10.00		
34	#	Subl	Hazardous Waste Removal		1	3.00 T		
35	#	Repl	Corrosion protection primer		1	10.00 T	0.2	
36	#	Rpr	Setup & measure			-	2.0	
37	#	Rpr	Rough pull				5.0	
38	#	Rpr	Burn Panels				2.0	1.0
39	#	Repl	Roof Skin Kit		1	250.00		
40	#		Disarm airbags		1		0.3	

Preliminary Estimate

Customer: Harman, Anna

2015 FORD Escape Titanium 4WD 4D UTV 4-2.0L Turbocharged Gasoline Gasoline Direct Injection

41	**	Repl A/M Urethane kit		1	25.00		
			SUBTOTALS		2,318.05	45.8	12.5

Cakenami	Basis		Rate	Cost \$
Parts	DG3I3		1766	2,305.05
	44.2 hrs	@	\$ 70.00 /hr	3,094.00
Body Labor		_		•
Paint Labor	12.5 hrs	@	\$ 70.00 /hr	875.00
Mechanical Labor	1.6 hrs	@	\$ 110.00 /hr	176.00
Paint Supplies '	12.5 hrs	@	\$ 48.00 /hr	600.00
Miscellaneous				13.00
Subtotal				7,063.05
Sales Tax	\$ 7,063.05	@	5.5000 %	388.47
Grand Total				7,451.52
Deductible				0.00
CUSTOMER PAY				0.00
INSURANCE PAY				7,451.52

MyPriceLink Estimate ID / Quote ID:

1129505999829344256 / 129144040

MOTOR VEHICLE REPAIR PRACTICES ARE REGULATED BY CHAPTER ATCP 132, WIS. ADM. CODE, ADMINISTERED BY THE BUREAU OF CONSUMER PROTECTION, WISCONSIN DEPT. OF AGRICULTURE, TRADE AND CONSUMER PROTECTION, P.O. BOX 8911, MADISON, WISCONSIN 53708-8911.

THIS ESTIMATE HAS BEEN PREPARED BASED ON THE USE OF ONE OR MORE REPLACEMENT PARTS SUPPLIED BY A SOURCE OTHER THAN THE MANUFACTURER OF YOUR MOTOR VEHICLE. WARRANTIES APPLICABLE TO THESE REPLACEMENT PARTS ARE PROVIDED BY THE MANUFACTURER OR DISTRIBUTOR OF THE REPLACEMENT PARTS RATHER THAN BY THE MANUFACTURER OF YOUR MOTOR VEHICLE.